                       REVISION 
(Form 12)
 Choose the word whose underlined part is pronounced differently from the others.

	1.A.clothes        
	B. gone     
	C. drove     
	D. ghost

	2.A.hear            
	B. dear       
	C. pear      
	D. clear

	3.A. turn           
	B. burn     
	C. curtain  
	D. bury

	4. A. took          
	B. book      
	C. shoe      
	D. would

	5.A.achieve      
	B. chemist   
	C. riches    
	D. watch


Choose the word that has the different stress pattern.
6. A. money              B. receive             C. borrow             D. Service
 7. A. golden             B. Science            C. rocket              D. attain
 8. A. provide           B. account            C. pocket              D. protect
 9. A. endangered     B. survival           C. commercial      D. industry
 10. A. wildlife        B. awareness         C. global               D. measure
Choose the best answer among A, B, C or D that best completes sentence.
11. Almost half of turtles and tortoises are known to be threatened with………………...
A. extinct        B. extinctive        C. extinctly                    D. extinction
 12. The panda’s ………... habitat is the bamboo forest.
A. nature        B. natural           C. naturally                     D. natured
13. A leopard cannot change its ……
A. spots          B. marks            C. dots                            D. labels
 14. “Without your help, I wouldn’t be so successful now!”. “………….”
A. You’re all right.    B. Will you.   C. What a surprise!    D. Don’t mention it!
 15. The wetlands are ……. to a large variety of wildlife.
A. land          B. accommodation         C. house            D. home
 16. The …….bird catches the worm.
A. first        B. prior       
C. early      

D. initial
 17. Industry in Britain has been…… decline since the 1970s.
A. in           B. at            
C. on                              D. for
 18. You ….. fall asleep when you drive a car.
A. must        B. have to    
C. need      

D. mustn’t
 19. They have plenty of time, so they needn’t ……..
A. be hurry        B. to hurry 
C. hurry      

D. to be hurried
 20. You’re having a sore throat. You’d better ……  to the doctor.
A. to go      B. went       
C. go                   
 D. going
 21. I would rather ……. poor but happy than become rich without happiness.
A being       B. be          
 C. to be                
D. was
 22. Sit down, please……. a cup of tea?
A. Do you like                        B. Do you like to drink
C. Would you like                   D. Will you like
 23. “Must you come when your neighbor calls?” “No, I ……..”
A. must not           B. must    C. don’t have to   D. must not come
 24. May I have two tickets, please?...... two tickets,-please?
A. You must give me     B. You have got to give me
C. Could I have              D. You may give me
 25. He will have to stay in hospital. That’s what he …………...
A has done                     B. must do
C. must be doing            D. must have done
 Choose the underlined part among A, B, C or D that needs correcting.
26. They believe in (A) protecting endangered (B) animals and they protect (C) them from (D) controversial ways.
27. Biologists still have (A) not (B) real idea how many (C) species of living things exist (D) on Earth.
28. I have lost one of (A) my gloves, I must (B) have been dropped (C) it somewhere (D).
29. In the year coming (A), all the trees in (B) this forest will disappear if (C) nothing is done (D) to protect them. 
30. The employer are regretted (A) having to (B) dismiss several (C) of his (D) staff.
 Choose the correct sentence among A, B, C or D which has the same meaning as the given one.
31. ‘Tm grateful to you for looking after my children so well.”
A. Thank you very much that you looked after my children so well.
B. Thank you very much because you looked after my children so well.
C. Thank you very much for having looked after my children so well.
D. Thank' you very much about having looked after my children so well.
 32. “Why don’t you complain to the company, John?” said Peter.
A. Peter suggested that John had better complain to the company.
B. Peter suggested that John should complain to the company.
C. Peter suggested that John had to complain to the company.
D. Peter suggested John to complain to the company.
 33. The little boy wasn’t able to reach that picture.
A. The little boy couldn’t reach that picture.
B. The little boy couldn’t have reached that picture.
C. The little boy wouldn’t be able to reach that picture.
D. The little boy didn’t try to reach that picture.
 34. I am sure you didn’t lock the door because here’s the key.
A. You couldn’t lock the door because here’s the key.
B. You haven’t been able to lock the door because here’s the key.
C. You can’t have locked the door because here’s the key.
D. You weren’t able to lock the door because here’s the key.
35. The match was cancelled because of the heavy rain.
A. If it didn’t rain, the match wouldn’t be cancelled.
B. The match was cancelled because it rained heavily.
C. Despite the heavy rain, the match was cancelled.
D. If it hadn’t been for the heavy rain, the match wouldn’t have been cancelled.
 Choose the word or phrase among A, B, C or D that best fits the blank space in the following passage:
Nowadays people are more aware that wildlife all over the world is in (36)……...  . Many species of animals are threatened, and could easily become (37) ……...   if we do not make an effort to (38) ….….. them. There are many reasons for this. In some cases, animals are (39) ……... for their fur or for other valuable parts of their bodies. Some birds, such as parrots, are caught (40) ..…. , and sold as pets. For many animals and birds, the problem is that their habitats - the place where they live - is (41) ……... More (42) …….  is used for farms, for houses and industry, and there are fewer open spaces than there once were. Farmers use powerful Chemicals to help them grow better (43) .…. , but these Chemicals pollute the environment and (44)… wildlife. The most successful animals on Earth, human beings, will soon be the only ones (45) .….. unless we can solve this problem.
36. A. danger                 B. threat             C. problem        D. vanishing
37. A. disappeared        B. vanished        C. empty            D. extinct
38. A. harm                   B. defend           C. protect           D. serve
39. A. hunted                B. chased           C. game              D. extinct
 40. A. lively                 B. alive              C. for life           D. for living
 41. A. exhausting         B. departing      C. escaping         D. disappearing
 42. A. earth                  B. soil                C. land                D. area
 43. A. products            B. fields             C. herbs              D. crops
 44. A. spoil                  B. harm              C. wound            D. wrong
 45. A. left                    B. over                C. staying           D. survived
 Choose the item among A, B, C or D that best answers the question about the passage:
Yong Liang, two years old, is the first giant panda raised from birth in the zoo. Last month zoo keepers found the panda was suffering from serious anemia, calling for urgent blood transfusion.
 The best way, according to the zoo’s experts, to save Yong Liang from anemia would have been to transfuse blood from another panda. But it was the breeding season for giant pandas, making such a transfusion very difficult.
 But the experts found that there exists a close consanguinity, relationship by birth in the same family, between giant pandas and back bears, so they decided to try to take blood from black bears in the zoo and transfuse it to Yong Liang.
 With the help of hospitals and the Beijing Blood Donor Station, they made an experiment which proved that the red blood cells in the blood of black bears can be used.
 On the afternoon of February 15th, the first red blood cell transfusion was given to the giant panda, from 600 ml of black bear blood. Immediately the young panda started to recover.
 46. Which of the following is NOT true according to the passage?
A. Giant pandas and black bears are of the same race.
B. The transfusion was based on scientific research and experiments.
C. After the transfusion, the young panda began to regain health.
D. The two-year-old panda was probably born in the Beijing Zoo.
 47. They decided to try another way to save the panda because ……
A. it was difficult to find other pandas
B. the blood of pandas was too expensive
C. it was the breeding season for the panda, Yong Liang
D. other pandas were producing young at that time
 48. The word “transfusion” would probably mean …….
A. changing blood in the body
B. giving some of the blood
C. adding an amount of blood to the body
D. All are correct
 49. Anemia is a disease caused by the shortage of ……..
A. red blood cells           B. blood  C. white blood cells        D. food
 50. The best title of the article should be ……..
A. Prying Giant Pandas
B. Yong Liang - A Giant Panda
C. Bear Blood Saved Panda
D. A Successful Transfusion 
 
